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* SECTION - A : MATHEMATICS (5633 w-5%00)

1 \/5+\/§ is

(1) Ratiql.iaI number (2) Irrational number
(3) Prime number ‘ (4) Composite number
J2+:3 st , G b

I (1) e85 Somg ; k (2) &ocSon Somg

(3) @ern bowg (4) Hoot Yowg

2. WA={POLY.TECHN]I and B={E,X,AM}, then AnB=
A={P,O,LY,T,E,C,H,N,I} ®bate B={E,X,4,M} ©ax8, AnB=
) {P} @) {E} 3) {x} @ {7}
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3 Product of zeroes of polynomial 5%% -1 is

Sx2 -1 & 25050 &»52; Frarge opin

' 1 1 1
1) 1 @y @3 @ 3

4 (x+a) is a factor of f(x), if
(x+a) odn f(x) BwE sBarospos’

M) f(a)=0 @ f(—a)=‘0 ©) f(;]=0 @) f[7)=0

the non-tenﬁinating decimal is
& dopged® vodosd EF°0Fo
I 3 2 - 3 L 4 $

6 If ‘»’ is a prime number, then Jn s

(1) Prime number . .(2) Composite ﬁumber
(3) Rational number . (4) Irrational number
‘N RO 2 [(HES Song wowd, Jn oo o

(1) @ dowg (2) oo Hopg

(3) w88 dowg . (4) 8o Homg

7 The HCF. of 7, 8, 9 is
7, 8, 9 © .02,
(1) 9 2 7 31 4) 2

SPACE FOR ROUGH WORK / 2 %28 Stravoseds dedn
@
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10

11

12

13

If 4={1,2,3,4,5} and B={4,5,6,7) then A-B=
A={1,2,3,4,5} oot B={4,5,6,7} eand, 4-B=
(1) {1,2,3} @) {3,4,5) 3) {5,6.7) ) {2,3,4}

The value of -log,,s5 is
log ,s5 By dend

! o ) 1 1
oS @ @3 *) 3

If the equation- _3x2 +2x+ k=0 has real roots then £ is

3x2 +2x+ k=0 om0 o hureren 50 63) S k dend
1 1 ' 1 ' 1
k<— k>= k== k>—
(1) k<3 @) k>3 (3) k=3 @) kzg
The condition for ax® +bx+c=0 to be a quadratic. equation is

ax’ +bx+c=0 of H8 JDELEwO SEBH ©IS JoBHE D6 ?
(1) a#0,a,b,ceR 2) a=0,6=0,c#0

(3) a:O,b;tO,C-?ﬁO (4) a=b=c=0

Find the 10th term of A.P. 5,1,—-3,-7..... is
5,1,—3,—7..... @08 B8 &gy 10 % 50

(1) -31 2 31 3) -27 4) 35

If a,b,c are in GP. then §=

a,b,c e Hw @S 65)S, %: |

b e b ¢
g @ 3 G) @ =

SPACE FOR ROUGH WORK / d& 08 $tranoswds o
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14

15

16

L7

18

19

If the .2“d term and 5t term of a G.P. are 24, 81 then the r =
e (BBS® 28 &30 B 5 Deso 24, 81 w08, =

' 3
() 16 @ 3 OEE O

If o, B are the zeroes of the quadratic polynomial ax® +bx+c,a#0 then

o+ [32=

ax® +bx+c,a#0 oD HGIVHO By, Erargen a, f ead a? +'[32= -----

@) ‘a%(b2 +2ac) . Q) —6—11—2—(c2 - 2ab) (3) aiz(b2 - 2ac) 4) ;15(02 —2ab) .

If 5x+ py+8=0 and 10x+.15y'+1v2=0 has no solution, then p= ..

5x+ py+8=0 ®Bow 10x+15y+12=0 e sdEsmred FEH BT, p Jeod

15 13 i -]
O @5 @y @ 5

B)
Which term of GP. /3,3,34/3 ... is 729 ?

B335 o o8 S B, 720 O i |
ORI 2) 12 (3) 14 @) 16

The sum.of first ‘100’ natural numbers is
ese3 <1007 Hees Sompge Bo&in _
(1) 2250 (2) 5100 . (3) 5000 (4) 5050

In the following equations, the line passing through (0, 0) is
(Bod B, (0, 0) hom Beoed) o |
(1) y=mx (2) y=mx—-c (B) y=mx+c (4) y=c

.....

SPACE FOR ROUGH WORK / 9& 98 Séranosuds oo
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20

.21

22

23

24

The solution of system. of equations 2+i= 13 and 28 -2 is ...
x )y LX)y

2 3 5

. i
—+==13 HooH ———=-2 o LS JPED .....
x y - x Y

ol) o) ol ol

"The line x=7 is .....

(1) parallel to x—axis _ (2) parallel to y—-axis -
(3) passes through origin (4) passes through (0, 7)
x=17 @Jﬁ)éﬂ) )

(1) x—ogindd throddsn (2) y—wgindd Hrossin

(3) Swreodothd hoae FPhod . (@) (0; 7) o3 Dot thom FEHD

If the roots of the quadratic équation px2 +gx+r=0, are equal, then q2
px2 4 qrtr=0 55 sdgtmo sy Smeren SRS, g7 =
1) 2pr (2) 3pr Q) 4pr (@) 8pr

3 EON|

The sum of roots of the quadratic equation 3x2 —6x+1=0 is’
332 — 6 +1=0. 55 ShESmo BwE, Hrere Tugin
| | 1

O @3:6 3 @3

If ax+56=0, then x= .....
ax+b=0 oand, x e .....

| ; b
(1) -a . . 2) a 3) ; 4) _S

SPACE FOR ROUGH WORK / 2& 398 Séranosedd ;wé:w
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25 Thetwo lines 2x+3y 7 8x+12y lare‘ __ lines.

(1) Perpendlcular (2) parallel b L (G 1ntersect1ng .. (4).nonc
" 2x+3y=7, 8x+12y = 1% Bpew . féq:en."
(1) o0 Q) vaross  (3) wodd Q) _'Dé s

26 | If three points (8, 1), (k,—4) and (2 —5) are collinear, then k=
(8, 1) (k 4) FY e leb eV (2 5) &ocﬂa@w Jéﬁ)ob'e» eoomé k_
(D)4 o o ol -::(2) Betts e Con T (3):2 o (4)‘

LA Py el ; ie
27 Dlstance between the pomts (4 8) (5 2)
" (4 -8), (5 2) aom@o :nég m»csm s

B s O 55 O (4)@

23 ‘.In a trapezmm ABCD with” 4B || DC and dlagonals mtersect edéh other at the pomt
0% If AB= szD, then the rat1o of areas of trlangles CcoD and AOB ISFEZ 0 '
@ixsoxao ABczg,es‘ AB|| DC ssaaam ana 5o°e.u m;,do ‘O @aaod;@mmms"mw

. AB= 2CD eocooé @’Qeﬁoa:men COD %00% AOB oﬁa‘e)gé»e) DB ...
- (1) 2».‘1 ; (2) Hris 2 s Ay (3) 1i ' @) 4___

wE. b

LRl g RS B,

: 29 i _AABC ~ADEF and their areas are respectlvely 81 sz and 295 sz = EF ; cm’,
(2) 9cm (3) 10 cm (@) 5 cm

'1'905): @o:oé BC =
0. (2)9m5,

[PTO:



30 A circle with centre ‘O’, ‘P’ is a point outside the circle and P4 and PB are two
tangents to the circle at the point of contacts ‘4’ and ‘B’ from ‘P’. If the length of
PA = 10 cm, then the length of PB = '
(1) Scm 2) 20em (3) 10 cm (4) 2.5 cm

‘O’ o Ko 588 P’ ©d Dok wrirgind® o, ‘P’ BothY thoae B8 A’
2oty B «B 1)6) Dothie 5 Aavwdd 3)6) Spen PA wdaty PB. PA & =
10 %0.2n. wawd, PB df = .

(1) 5 20.5. (2) 20 0.5 (3) 10 2o0.5. (4) 2.5 20.%.

31 A tangent AB at a point ‘4’ of a circle of radius 7 cm meets a line through the centre
‘C’ at a point ‘B’ so that CB =.11 cm, then the length of AB = .....

(1) V71 c¢m (2) 642 cm (3) 9 cm 4) 12 cm
7 0.d. sgddo a%) Syed) AB 8)60w ‘A’ 8 &800. £)§ Sogo ‘C” wod AR
D Ho DothY ‘B’ 9% érdo CB = 11 0., wand, 4B PEH = .....

(1) V71 2. (2) 642 2od.  (3) 9 o (4) 12 %0.%.

32 The points of intersection of the lines 2x+3y—5=0 and 3x—4y+1=0 lies in which
quadrant ? '
2x+3y-5=0 8ax 3x—4y+1=0 Bpeo podd Doth) @ Fcsod® dodkd ?
(1) I @) IV 3) I | @) 1

33 In the given figure, PQ||BC.If AP=3 cm, BP=2 cmand CQ=3 cm, then 40 =
&1 (800 %08° PO|| BC. AP =3 0., BP = 2 20.. %8t CQO =3 0. @ond, AQ =

A

B C
(1) 4 cm (Do) (2) 4.5 cm (R0.) (3) 3.5 cm (o) (4) 5 cm (0.v.)

SPACE FOR ROUGH WORK / 9# 08 Stronosedd dedn
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34

35

If the ratio of correspondmg sides of two similar trlangles is 4 : 9, then the ratio of
areas of these tr1angles 1S .

Todh A (Bghere OHEFD ghere B 4 1 9 wond, & (Bghere Jrergo RS ...
(1) 16 : 81 2) 4:9 (3) 2:3 ) J2:3

In the given figure, ZADE = #CBA, if AD=3.8 cm, AE) =3.6 cm, BE=2.1 cm and
BC =42 cm, then DE = O

%3 80d H0208°, LADE=ZCBA, AD=3.8 0.2, 4E<3.6 %0.., BE=2.1 %0.5.
H00x0 BC =4.2 0.0. @owd, DE = o}

-
A -

et

£ 3

N’

L

-y 4

E D | W,
. (-

B ¢ | )
(1) 2.8 cm (%) (2) 2.1 cm (Rod) (3) 3 cm (258 (4) 3.8 cm (0.5.)

36 If the radius of a sphere is 3.5 c¢m, then the volume and total surface area of a sphere
, 22 Q
are respectively ..... (use 7 =7) Ty
539 343 = 147
ok A % 2 Lt v L
(D 5 cm’; 77 cm 2) 2 cm(ﬁ > cm
539 : 539
(3) =5~ om’; 49 cm? ‘ 4) 5~ om’; 154 em?
28 H'vo Ggy Tggo 3.5 0.2, vawB, Ao Mgy WMEBEre0 LA dogrgde
2 ©
Beorgen HHJT ... (T =7 ™ S DEN) L
539 343 o
(1) =2 w205 77 $.20.5. 2) 32 8. 14—7 320,
6 \FR
539 539 ©2
(3) 5 @30 49 Sob. 4) 3~ @0 154 3300,
SPACE FOR ROUGH WORK / 0 98 Srcouad gos
'\5:,1
U
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38

39

If the total surface aréa’of the cube is 864 cm2, then its volume is .....
L}

(1) 144 cm? @) 1728 cm? (3) 3174 cm? (4) 576 cm’
\O

Bisveso Bk “mo@gefe;é\éwago 864 5.20.5. o3, oo DD HOXrW ...

(1) 144 ool (2) 1728 2o, (3) 3174 20D, (4) 576 .70,

)
The value of cos 60° lc 05 30° —sin 60° sin 30°
l 'a

cos 60° cos 30° —sin Q@f’ sin 30° By, ewd
1 .
(1) 5 (&) — 3) 0 “4) 1

i_{ B
In the figure, if AP ahd AQ are the two tangents to a circle with centre 0’ so that
Z0QP =15°, then AQAP— .....
(808 Bekns® ‘0’ Sodor o 5y898, AP oo AQ e Dol 3)8Bpen H60K

ZOQP =15, ®and LOAP= ...

(1) 15° (z) 600 (3) 300 (4) 450

s—.

SPACE FOR"ROUGH WORK / 0g) 38 Strovosinds goie
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il If the angle of sector is 309, then the area of a sector of .@@_Fif‘?l‘? WIth radiF’S: 7 em

Z ; 22 ."“’ EELAN . ; _, ::~“',, KRS
18 (use 7t=7)' R g SRR

: 77 ' 12 132 4
1) — cm2 (2) E cm2 : (3) —_— cmz : (4) = cm2
S)ebo 61»53. vga‘ﬂdo 7 20. Eb tobo.rb "?oéda Q‘eao 30° eoni ?oéd) Bﬂresén
22 ‘
: (ﬂ—7 o) éms"z(»o‘m)
- IHE O e o st ‘*13‘2 imfll 154
- D g SRed @) - swod. () - S0, @) = 200.2.

41 If a right circular cylinder has base 'radiusﬂ7_'ém~f and’height 10 cm, then its volume

' l,'}:f' s

(@) 154em®  (2) 440cm3 . (3) 4400 cm® (4) 1540 cm?
&8 (5D H)zs6 grito By g gdo 7 Do.b. DBt I 10 0.5, $0A a0, o

) 154 o 2» () 440 % mz» (3). 4400 :.‘)J"{oob) @) 1540 .30.%.

42 In any\'AABC,"th'e value of sin(A;B). -'is“i SR BRI

I TR B8 M

g A4EC Si“(A;l?) Swky dens

wed o ces(a“, = (;;;;(?f;‘éj* ;;;;;(z-

:
2_"
The angle between a tangent to a cxrcle and the radlus drawn at the pomt of
ntact is Xl 5t S S

1 ® : ”"s{ 3 .\\;‘
i o o BT G

>

E FOR ROUGH WORK / e 598 Srcvosnns oy
bR - 3 : .. \“:l , 3 ’l;‘l:\‘" FUR R gt k“ R ) NS o .

i IR R T T st Sl 0 &
S U s S L PTO
“ S T : A ; ' 1.U.
P b SR 0 DL Ll Rl 3G IS TE i ¥ i
e LA A A 5
e B ¢ »

e
=



44  If the ratio of base radii of right circular cylinder and cone is 2 : 3 and the ratio of
their heights is 3 : 4, then the ratio of their volumes is ..... '

(B Hygrse8 Wrdo Ddaxy #oth) By gbr Frgrore ARDE 2 : 3 Hdoxo ¢ Jheo
28 3 1 4 wonB, T8 B $0ErEe R, ..o ‘
1H1:1 2) 4:1 (3)9:8 - 4 1:3

45 Find the -area of the shaded region in ﬁgure; if ABCD is a square of side 14 cm, APD

and BPC are semicircles. (use 7= _7_)'

A - 4o

D
(1) 10.5 cm? (2) 21 cm? (3) 42 cm? ) 154 cm?’

1800 istssod® ABCD 3808 g0e0 14 %0.8., APD 6ot BPC f Sygren, wand
v . ¢ i

| 22
6 B0 (o8 Brrogin S, (T= 5 S8 iw)

A 14 ?oofb

D
(1) 10.5 S0, () 21 $30d.  (3) 42 S3od.  (4) 154 S0k,

SPACE FOR ROUGH WORK / D& 398 Stmowosiads goms
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46 Empmcal relation between Mean Median and Mode is
(1) Mode + Median = 4 Median — 3 Mean
(2) Mode — Median = 2 (Median — Mean)
(3) Mode — Median = 2 (Median + Mean)
(4) Mode + Median = 4 Median + 3 Mean

- rfew, g e WA R &wé&. o gAY o0
(1) arsTED + g K = 4 Dog st — 3 Wik
(2) erdrocsssn — - g et = 2 (Besg s — iew)
(3) oo — g Addno = 2 (g Ko + W)
©) arioesin + g s = 4 gy Ad + 3 ey

47 What is the median of 47, 52, 57, 62, 67 72 77, 78 ?
47, 52, 57, 62, 67, 72, 71, 78 © Hresg 8
(1) 62 2 67 = (3) 645 (4) 69.5
. 48 The angle of elevation of top of the chﬁ‘ from a pomt 300 m from its foot is 60°.
; Then the height of the cliff is ' |
&8 ol adbrd e,wio 208 300 E»exs drdo 08 Fos D @i 60° aeess S0 S,

80 &)e‘i: A _.
2 e « ka0 200
1) 30043 2 200_J§ 3 4)

) f ® i bR Teh

49 A person is flying a kite at a height of 30 m from the honzontal level. The length of
string from the kite to the person is 60 m. Assuming that here is no slack in the string,
- the angle of elevation of kite to the horizontal level is

a8 958 83 $EPOSE ow 08 30 Doy MHE MO IoEEpTIh. MO Beo BE
|y Erae Seone éé:om 408, © %8 ®od diseo 86 @y TaY 60 33, ©and,
o B0 882 HSross a0’ Dot e ; :
. (1) 60° = (2) 459 LI (3) 300 , (4) 9Qo

wo events E, and E2 are mutually exclusive then E\nE, =
e a’ad‘oad 666 C\)Oq))é-)m o, E m E, =

@y @ @os

A ‘EOR-ROUGH WORK / 28 198 Seranoseas ses,

L ~ [PTO.



51

52

53

54

55

Find the missing value of “»» from the following table when Arithmetic Mean is 3.55.
L&o& depodo By vof dEgo 3.55 eawy, “p” Sy Je0d

X|112|13|4 |56
F|8/9|p|16|9]8
(1) 10 @) 9 3) 16 4) 8

If no value of an ungrouped data is repeated, then which of the following cannot be
determined ? .

(1) Median . 2 Mean (3) Mode (4) None
28 0HdE)S dgooréoes":) Denden sorHydo A, & (808 IS* B LI HBA.
(1) Ho¢g s (2) Sefen’ (3) TR (4) 28 ==eH

The price of the fifteen shares in rupees are as follows :

46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25.

What is the Mode of the price ?

H0%r Y By Goen Erdranes® & (800 Aforr Gar)ow.

46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25.

wond, ¥ $o BE) THVTEL Jod ? :

(1) 59 (2) 73 " (3) 25 4) 11

2 =
If sec®=—, then cosO=
3

secG—-— @o:ozé cose-
V3 :

5 2 oL oL
o ® 5 ® 3 O
The value of oot - is
sin 30° +cos 60"
cot 45°

) . &mé&. D -
sin 30° + cos 60°

1) 2 Q@ =2 | (3) 1 4) -1

SPACE FOR ROUGH WORK / & 98 Seranoseds $oio
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- s6If P(4) ;%, then P(4)=

; P(A)=% ®ONY, P(Z): .
= | 1 i 19 | 14
(1) 5-, @ 5. Sgaite O 1—5 Ry 15

57 A box contains 7 red marbles and 9 green marbles If a marble. is drawn at random
" from the box, then the probability of not getting a red marble is-

28 2BS° 7 Xy Rden Hdark 9 By APden Soiy. B wod oﬁ»dgabsom S FOD B,
©d o)da@ B0 =00 oo fovogregd. o

: L1 3 4 _9_
(1) E ‘ (2) E 3) e : ( ) 16

58 The value of tan26° 4;an6j46 is
026" -tan64 Gwgy dews e e e
R B Q)dr= & 3) 2 sy

‘59 The angle of elevation of the top of the tower, whose helght is 15 mts; at a pomt whose
‘distance from the:base of the tower is 15 mts is - s Amer b

. JB Boziod @) aetio 08 15 & drdoés D08 a&&o{.)zs I()oe;io ® gr(io
éaoﬁ)éldsg‘ea:m . Wik = o TG s
59 . PE(2) W% (3) 30° - (4)>60°"

i
= e B - <
(=] e
& LR x5 P
.o

b 3) sece{cogg (4) sm6+tan9

‘ —

[PTO.



SECTION - B : fﬁysI(:s (e,jraé P9

61 Convex lens is used in the MiCroscope due to the followmg reason
(1) It gives diminished image
- (2) It gives magnified virtual image on same snde of the object
(3) Real image behind the screen =
(4) It gives magnified real image on opposxte 51de of the lens

B:@‘:&‘a.o; & éaowwd SN aoximofbe:é) s'»dno
(1) D)3 @dBowo bdadh:bz&) _ | ‘
(2) 23S Kbtp"g ©$8D0wrd) S ) By :)dadmza:
(3) B8 FE de3 (H3Dowo AEYDWD ' '

: (4) T Jes (HBDow0 K508 :;sa'és aées‘ Dd;&rmx»

62 Air bubble in water behaves like a

(1) Convergmg lensiieo e S '(2) Piaﬁo convex lens-
" (3) Diverging lens . - (4) None
oy ‘56365 dsoé ™® a»am ée ééaéo é@a&)é&noa
¢)) 'éo@§6m ééoéﬁm ; 2 o (2) méo Hogrsed e8Hn
(3) Tod¥cem sesin @) Y

- 63 . The mirror used by dentist is 2k ‘ e
(1) Plane mirror - (2) Concave mirror

3) Conyex IITOr.S o o i - (4) None
;msaa a:mrnoa ddamém oy S

5 (2) '.f,yt‘.rs‘d d&a@ﬁn&
@) :qp s

. ’of curvature of a spherlcal mirror is 16 cm. What is the focal length ?
; (2) 8 ecm (3) 24 cm . 4 32cm

Ch amsa_ Y a'gﬁ'do 16 0. b: ©and, S8 wgigodto Jod ?

.(2) s mh: :-:(3_)., z4_ b (4) 32 %ob.

-

pt{GH .WQRKf/ D) 308 Beronondd Yol

[ P.T.O.



65 Ifthe refracted rays from a convex lens are travelllng parallel to the pI‘mCIPal axis, then :
age dlstance is

Equal to object d1stance

@ Inﬁmty

@) Equal to radlus of curvature of the lens -
Equal to focal length of the lens

B85 K050 od Hfessvo Boa ecseme» @qs»aosvae sirodtor @oﬁva&(»oé (802 .

Gt
L0

(D) % Erod8 HErdn

\Q

) ododin _

) sos sge TGITmB B

(4) S658 Taf5080-28 s

i D : : : 5 e 3 !

66 ‘What is the focal length of double concave lens kept in air with two spherlcal surfaces

=10 radii R; = 20 cm and Ry =40 cm. Take refractive index of lens n = 5/3.
.@\)—mcm' " (2) 20 em (3)4()cm | Rl Oyeit £E)

e ‘é{ém K080 1= 5/3 Ko 2. cssog)e.ps»cs S50 mS® Boswda. St BwE) Dok

= 40 coo.s'b. ®and, & é_eaé-maﬁgoésdo dos 2

, 8‘9) 20 ma, (@ 20 ‘eo.ﬁ)). () 40 0b, (4')’_’;26 0.5,
n
dtsthe magnification of the miirror is greater than 1, then the mlrror is

: '(-ﬁ:) Concave mirror - el (2) Convex mirror

Plane mlrror e . (4) None

"'emd?bo Dené 1 08 Qé)a.a’) VAN, © ddasaén

(2) s’oowsvd chQeaén
(4) o)a scha

[P.TO.

R il
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68 - A virtual image is formed by a concave mirror whqmthe. object is’ placéd
(1) Between the pole (P) and F * (2) Betwéen F and C
(3) At centre of curvature = 4) Beycrna @

f')
og)éavsvcs dé;)wo BHATAOD Ko Ty, :)qug @é&omoﬁmweoé m:g)rm GoSBORS M0

(1) S8y &yso (P) Boo Fomgg  (2) F Cwgg

(3) #Hge Bogo (C) (@) C G edde
69 The lens which always give a diminished and virtugi}image is
(1) Conyex lens ) anc&\se lens
(3) Plano convex lens (4) Concaye mirror
VST ﬁéﬁé-&wg (H@Dowo By S8 &)
(1), Hogrss oo ) Kg)ers(;g Serssn
(3): ‘@86 éaoérs‘d CAEHN (4) Herss S8y
-

70 ‘Whlch molecuLes are respon31b1e for the blue colom")of the sky 2
e.osvéo Q9. SotH® 50508 T Ed6m0s D O @m@ebgvdmé» ?

W 02, N2 . @O N, G) N,H (@ N,_, c12 |
o

d..c11,1ary muscles (2) Iris and pupil
dicornea,, - - . 4) None '

63 &»5&. 3 e,rme» éoéSeS‘é $8) 5008 éé@m K)onoL@a'o» ?
séooﬁa éoémex (2) doHEd) SIS

L@ sl
S CY) sz%

v relation between Vpotential@fference (V) and current (/) is

[ORZYS ) Voc112
Tt

s

: ‘arts of the eye controls the intensity of light, while entering into the eye ? -~

.....
......

.....
.....

.....

" [PTO:. -



73  1If area of cross section of a wire increases, while temperature and length are Constant,
then resistance of the wire

(1) decreases (2) depends on material
(3) increases : (4) none
S8 oo P Jore v Hpdd DEFVYS Brogo BOAB, 8K By :oe‘*é:m
(1) érbé;oa % () wdoa@md‘o& G0oénod
(3) . borbebod ; @) 83
74 Least distance of diéﬁn_ct-vision is _ o5
1) 25m - (2) 25 mm (3) 25 cm (4) 25 km
08 o 800 o = sk
M2 @ 25 .. (3) 25 0. (4) 25 8.
7S  When wh1te llght is 1n01dent on a glass prism, the least deviated colour is
(1) violet™ =71 (9) orange (3) red ~ (4) yellow
e %0 Ehcs Be&) 5008 HESHEIPE, &%) 5 dseso 308 5008 Soh> '

(1) & SR (2) w002 (3) .ocuc_@ - >

- 76 ~ Which of the foilbwing’ eye defect is age related ?

(1) Myopia ) Hypermetropla (3) Colour blindness(4) Presbyopla
&s 800 Te3S° aﬁoﬁmaé"" BT Sy & 8 ? :
dy '(1) Ca o W ) 88 &y 3) émoéésé» (4) Seresin

e 77 Sensation of vision in the retina is carried to the brain by
. (1) cornea . (2) ciliary muscle (3) optic nerve . (4) None
- 508 ao'ée's'oa‘n Béjm Kno& DD TSI : Sw

() s"blqﬁ‘ Q) 2058 Sodoren B3) s when (4) D2 =Y
{',H'i;'fmt of Magnetlc ﬂux is i s
O (2) weber (3) oersterd - (4) gauss

(3) ©anbys - @) =5

'. R, RQUGH WORK / 2 08 Seranosads gomo

18 e ~ [PTO.
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80

Choose correet option regardmg magnetlc lines of force
(1) Intersect near north-pole or south pole
(2) Intersect at the neutral point

" (3) Never intersect each other

(4) Intersect at the midpoint of the magnet '
w08 T 2o Swe (HB0D KT .)otms‘o&

(1) 688 Sar 8 G0 drics poBod oéron
(2) Sex0 Doty H podod 0eran

. 3) a,ém&)g"éésax)&)cﬁg a;o&o,mgs@ '
@ @oba"zroéo :»ég' Doty 545 moBoHHOETW

Which of the following converts meehamcal energy into electrical energy ?
(1) Motor - (2) Battery . - (3) Generator “4) Switch

(808 &&8° oﬁvo@é 489 kg8 48 ér'éaé 20 ?

(1) -5 (2) ergesd 3 wzﬁ'ée.)s @) %S

Whlch of the following pair of dev1ces measure the same phys1ca1 quantlty 2

(2) Ammeter, Voltmeter
4) Anmeter Ohm meter

1) Ammeter Galvanometer

(2) @h);é.ﬁ 55653635
(4) ode5, ERINS

(2) Current !
(4) Electrical resistax;ee

2) 2bogB i
 (4) D8 Aesss

[PTO.



83 * Find the current (J) in the following circuit diagram
. (BodS g seaos® S g0 (1) Devd o8 7

5Q 10Q
/\j
i
|I
: e 30) . A _
(1) 54 ) 44 0) (4) 24

84 Ina c1rcu1t two or more re31stors are connected in parallel. Then the followmg quantlty
is same for all the resistors
(1) Potential difference - < @) Electric current.
(3) Resistance : (4) Heat

B el Se0H0s” Boch B ©os¥od oDéJa_a’a K)Sscp"en a:ﬁroédom oow&)oiia)& &a"lon eaq)‘yd).
0% Wwoé) 800 F°RY o3 o8 Mom &OLVOD. '
(1) PBYS B (2) DB i
e angs 2Es gy @ agay

Algebralc sum of potentlal differences in a closed loop is o
~ (1) one (2) equal (3) zero ~ (4) none
| 2 Sl Soanos® FBINS Bare Heod Bodin

e Qs Qamy @) %8s

nd the length of the conductor which is moving with a speed of 5 m/s in a direction
endicular to the magnetic field of induction 2 tesla if it induces an emf of 107
c_ends of the conductor.

) 2m Glas (4) B
308 OB Fo|dS LAY 8 645 eomore 5 ./ :s(sog Stoendos)
qsg‘ 10V K)d)sab')eﬁ 200 Loﬁmﬁm&ﬂ © 84 day

0‘(2) 25’ '(3)35{ 4) 43»_-‘

ROUGH WORK / 9 98 Strootans ok
. A ®
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87 According to ‘Right hand thumb rule’, if thumb of a right hand mdlcatec direction of

~ current passmg through a straight conductor, then curled fingers of the same hand

represent
, (1) Direction of magnetlc ﬁeld - (2) Resistance
© (3) Direction of induced emf - = (4) None of these
'HB B F°6x5 Bew oY (HS°E0 &8 HB 38 576 Bew Jerdorr o8 TirEos’ g BID
AN of B8 DEVTKY) b rdya.
(1) ©apod B 048 (2) D85
(3) (3828 devgmyoswwo B8 (4) ad Y

88 Themagnetic force on a current- carr})ing wire placed in a uniform magnetic ﬁeld.if
the wire is oriented perpendicular to the magnetic field is ' :
. a8 89 0008 FB°8 voworr dd) MgS (o do iR RV w0

(1) E—BIL ot @ 6 i BI @ o BL

Electnc current carrymg solenmd behaves like
(2) Horse shoe magnet

7 (4) Steel rod
BSS) PoFons aor (55008 s B
3 umsaoz,oesm W tis (2) B0 ©anyosin
omssy : (4) a%y 8 :

agnetlc ﬂux passmg through it’ ?
law . - (2) Lenzs law Zian
G : ' (4) Faraday's law

i) B BP0 2
Y (2) BosS dovdtn
 (4) 68 dovdosw

WORK / 9 08 Stranosads goso

‘which law ‘Induced emf generated in a closed loop is equal to the rate. 30350

: ‘28 PoByd GBSt MY AdgT o8 weo B, dews, o thoae AHh R

[PTO.
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93

SECTION - c : CHEMISTRY (S B°R950)

Wh1ch of the followmg molecules has a triple bond 2

s L&o& 86" O wend) (B206°) 80A $0nod ? S ,
(1) 0, @ N, i U By

Which of the following is not an jonic compound o

Bod 586" watrds sy eo 5290 96 i :

(1) Na,0 (2) MgCl, (3) BeCl, ~(4) NaCl
The gas ‘formed when Zn is treated with dil. HCI is "~

B05% eaaao HCI & 6 280V IS woﬁa@ i sy

RO MOk ¥ j"(z;‘)}‘-—gzl_

94,

Wl S5 LA

The molecule in Wthh the central atom has one lone pair of electrons in its valence

] shell is

Cy : CaSO4:2H20

: ‘5"58 HEHreny) JoYy L8S° 2.8 'a,oeba JoF9S 2ot g:,l iy ST

ﬂ]ts 273

EORICET, Saisifio0s(2): BFg 10 EB)SBECL e AN, ¢

Plaster. of Paris is

:)'«)5 (T} 3"6«) @ém ' . ' . 1 SRR L (e A

(2) CaSO;H,0  (3) CaSO,1H,0 (1) CaSO,

ee L v oy s ‘ =
. :v, ,,—.r ar .'__ ' : wing A - # r, N
et b e ¥ Drend é)dl'

() 180° @ e

[RiO



97 The compound formed in the followmg reactlon i5 e

i
CH, - CH2 OH Conip50; ?

& (800 $658° D oy D6y 7

G e s HyS0, 7

(1) CH,CHO . (2) CH3- CH3 (3) CH,COOH @ CH,=CH,

98 What is the prefix useq for fungtiopal group aldehyde ?

(1) =als 00 e Q) =lol 8 ¢ - (3) formyl (4) hydroxy
e&'%r& @ﬁmﬁ BP0 GHAPACT FPog Hes0 ‘ »
m@‘ﬂ,awé* ®) 778 “) Tely

90 Functlonal group present in carboxyhc ac1d is
sos;)saas igos® 4cd ot sarrsy
‘(1) CHO :\:— (2) - COOH ‘(3) S COE (4) - COOR -
K 100 The gas hberated when metalhc sodium reacts w1th ethanol
Mﬁ‘é’ & é"ﬁ* ‘a‘&aﬁo édg esbﬁxm‘ycsa Dewdd TP
m%ua O ORR O 4 co

" eral formula of alkynes o+

B3 CoHaniz -~ @) CnHznfz

[ P.T.O.
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- 103 How many molecules of hydrogen are present in ﬁ@g Of hydrogen ?

(1) 6.02 x 1023 molecules (2) 3.0£% 1023 molecules

et gy 3) 6.02 x 1024 molecules (@) 3.0k8 1024 molecules
(1) 6. 02 x 1023 eemgen | o) 3,01 1023 wmPHed
(3) 6.02 x 102 empen (4) 3.01 x 1024 emen

| 104 Identify the correct ascending order of energies of orbitals.
- eB)re) 48 wtire (Ehodt PO &) H8080d.L)

(1) 35 <3p <3d < 4s , (2) 3s £s < 3p < 3d
3) 3S<3p<4s<3d Wi  (4) 3s €93d < 3p < 4s
; oS A

105 The total number of inner transmon elements in the modern periodic table is
555 ©BH weSéeS"X) Bm‘.’so @oéd .96566:6 PSP JoRS ..

a0 (2) G P (3) 28 "2 “) 32

106 . What is the molar ratic of hydrogen and oxygen mk,,‘,the formauon of water ?
=S Hoam e%bas S6g00 AH YA $66° T ng‘as Hoar w8yafe IS 343
e S A e iy
-(1)1.2 (2)2: \ (3)1:1 '(4)2'3

- 107 Which of the followxng quantum numbers descrlbes the spatlal orientation of orbitals ?
s (800 wé&é‘ 2 S30L0 HoWS, WOYErL) @%v‘?é éﬁgg#(‘o& Ben)eod ?

(1) n B 2) ¢ (3) My | (4)‘m.
' | | | 0

8 A‘.‘Pamng of electrons in orbltals starts only when t@ﬁavaﬂable degenerate bl are
ingly filled” is stated by :

c*‘"D A
) Hund’s Rule _ B Q) Pauh s Pnnc1ple
y ufbau Principle SN, L 5T () "Bohrls theory

=

) e@ﬁke :aaema»

OR ROUGH WORK / au &%ﬁe@woém&s sotn

24 [PT.O.



09 'The_ flux used in extraction of iron from haematite is
PHBE $08 085 D Jo|RrodsBd GBHETFAOT (5570

(1) CaCO; (2) Sio, : (3) P,0; (4) CaSiO;
110 Pyrolusite is a ore of | ‘
T %Bswg(oese) o By gi},}@o . : .
@M @) Mg} o (3) Hg S O §

111 Amorphous allotrope of car\lgﬁm 1S53

(1) Buckminsterfullerene (2) Graphite

(3) Coal : (4) Diamond
S6)S BEy 08 Srarossin
D) =5a5Bpees @ Q) S
ool "'c::} L (4) Hlestn
112 Nature of non-metal ox1desd§ generally : :
(1) acidic 2) ba,sgc : (3) amphoteric (4) neutral
@eS”a’mg) 9335@0 o ___' A dotrow.
- ' (1) es:n «)age,rme’\)l 2) =8 ‘ose,rvf\); '(3) &Siﬁswanal 4 S Dearard)
B In the process of calcmatlzgﬁ the ore is heated in the
(1) Presence of O, Q1 (2) Presence of reducing agent
f?) Absence of O, ~ (4) All the above
¥e20 D @@ojﬁé" w&%@ ___T:Sé Voo,
S0’ (2) Ea%so0e Sgos®
ddbarémeﬁ" oo, | 4) mlam

of the follow1q§;;15 not forrned when metal carbonate reacts with dnlute

[0) C%qn dioxide (3) Hydrogen (4) Water
5 sx;,re)&"’ g 28ABRI P éa L%b& w&)_é‘ Ddacs&)é 98 2
) SESarEE () TES - () M

Q&}H 'WORI_( / D& 8 Seravosadd Yot

[P.T.O.



| 115 Wthh one of the followmg molecules has hlgher bond angle‘7 3
' l_§o& TE3S %2 5 2080 tfe @w{)) e U % .
H.HO NH3 (3), CHyG., 4 (4) BF3

116 The electronegatmty dlfference between the elements ‘A’ and ‘B’ is 3 then the bond
formed in AB molecule is - , -

(1) Ionic bond  (2) Covalent bond (3) Sigma bandoa 445 Pi_ bonde

A 8o ‘B’ &3 Bodh Hirose g enoes Adogor ) 8e 3@ 3 408, AB 'Qm{))é‘ &)
200550 o ke VRGN, Lt W)
(1) oards oo (2) woaresbos wosin (3) by oo (4) PwOGHD -

117 Which of the following represents the eorreet order of electronegativity among halegens %
(808 38S° FSPesp By, 00 0BT S &S ($00 DB ?

(OReEB: ci>1 (2) F>Cl>Br>I
. (3) 1>Br>Cl>F ey 4) Cl>F>-Br>II.
i r . 118 Elements possessmg atomic numbers 3, 11,:19, 37 belong to____ block.
3 il 19, 37 DiErean Howg do é»‘e)s'e»__aréﬁ) Bocﬁoes'ox _
e o (3)d*',_'_—;'~ Wt

.‘r..".‘.‘

The element dlscovered in the place of Eka-Alumlmum FC P s

a Scandlum (2) Gallium (3) Germanium  (4) Boron
uwgmamoo FES GO B Hrotin ek

C (2) m@ox:o 5 (3) aﬁ;a')o.ﬁo ‘ (4) eS‘mS b

- )
. e
3 i

() anally () anonmetal (4) _“él‘_fmetauegd '

(2) 5@& 555“5” i (3) s»é‘bini ‘.'- ..(4) sees‘*as»a»




SECTION — D : BIOLOGY (257°&93)

121 What is the sluny mass of food that forms in the mouth due to chewing called ?

(1) Chyme () Chyle (3) Bolus (4) Pellets
Shrewo He) FEE° Soxrsahyg 6Bty B gD dokd ?
O - @3S ©(3) BB L (4) %P

122 The Ova (Gametes) produced by a woman contains how many types of sex
" chromosomes ?

‘ 9 Bo&rs Dered® (vodod’) M) Ssco Bond (EBrdfhen éo@ ?
Mm1 @2 (33 4) 4

123 Which acid renders the acidic pH_in stomach for the activity of protein digesting

enzymes ?

9 w0 $ dgranos sz(n efasodorr sro) @S dgo BD JBD Sdgo
& ceod ? |

(1) HC1 - (2) H,S04 (3) HNO; ~ (4) HCO;

124 Accordlng to Mendel's first law the monohybrid phenotyplc ratio is
| Dord EmcSéS :OJ"LéO 8o 8 ‘oogdm S)dg & 3&33 doés ?

(1) 3: v (2) 4: .3 1: ‘ @ 1:2:1
125 Which hormone helps for the long time storage of seeds ?
" (1) Auxins: ‘. (2) Abscisic acid (3) Ethylene (4) ‘Gibberellins
9 358 oD b 00 Jog GoSEIS KA E0B ?
(1) o8ySy; .. - (2) eDREepin  (3) apdS (4) S0y00%

126 Men produce sperms from which age onwards ?
(1) 20-25 years (2) 8-10 years - (3) 18-20 years (4) 13-14 years
s Q Ko wod é)@ségé [@r8ozfo etHd ? '

(1) 20-25 %o. (2) 8-10 %0. (3) 1820 %o.  (4) 13-14 %0

o
ey - ¢

SPACE FOR ROUGH WORK / 0& %08 Seronousedd o
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127 Flowers having both the stamens and cérpels are called

1 . . ’

( ) Asexual + (2) Conjugation (3) Bisexual (4) Unisexual
Eom50 01 ©odE o ToBold ¥OA &) Y Jod Dok 7

(1) ©Bons @) %oatorigo  (3) B3P0 (4) ¥dofd

128 Which of the following organisms-exhibit regeneration ?.

(1) Plar{aria ' (2) Homo sapiens . (3) Pavo cristatus (4) Naja naja
- & (808 EHOS® B HHOSIA BrH ?
| (1) $ooxe 2) Far WSy () ¥ ERS 4 T TE

129 What is the pfocess of joining two stems to grow as a single plailt 2

(1) Layering (2) Grafting (3) Cutting (4) Conjugation
Both sFomren E9% Fow & By WA el o ?
(1) wotn E8p6 () wotn dipey C(3) B " (4) Hookurigin

130 Diabetes is related to this gland

(1) Pancreas ~ (2) Thyroid (3) Adrenal (4) Pituitary
D eode 908 Howogo &) (1Hod -
() gosw (@ powd () esngm (@) Sty

family.

131 -Dodder plant (Cuscuta) belongs to
(1) Malvaceae (2) Rutaceae (3) Rubiaceae (4) Convolvulaceae

&en02rd8 BoBID.

2ored> Hes Dogy. (8ry58)

(1) &rdgd (2) &»&R (3) ErDadbd (4) &rgengdd

132 Energy currency of the cell is called

K20 Bo0EY ) éBbQX) ___ wotrd.
(1) ATP (2) AMP (3) NADP (4) ADP

SPACE FOR ROUGH WORK / & &8 Beronosadd Fodn
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133 In Chloroplast chlorophyll is present in

(1) Stroma (2) Outer membrane
(3) Thylakoids S (4) Inner membrane
08BwHSt H$Fds0 & 40oenod. _

(1) QP L (2) oy

(3) posand) | (4) &0 6

134 Deficiency of vitamin leads to fertility disorders.
__26DS &%0 toerTi)g shivgeh 08ob.
() A - (2B "3 D (4) E

135 In which year was Kolleru lake declared as a Bird Sanctuei;y ?
9 Do )B0s* EBt 35 1 SosgE Solgorr EESoIdo =0hOB ?
(1) 1989 (2) 1999 (3) 1979 (4) 1969

136 TUCN (International'Union' for Conservation of Nature) was founded in which year ?
TUCN (20838)3%6 a8 $56 LoubatS ©F Fu3b) O HoddBoS® B0 ?
- (1) 1948 (2) 1958 (3) 1968 ' (4) 1978

137 Women have which type of sex chromosomes ?
Spes® DA God Bons [ETRrdHn 2 ? _ |
1) XY ) YY 3) XX () XW

138, What is the name of Darwin's ship which he used for world voyage ?
(1) HMS Beagle  (2) KVS Don (3) LML Vespa (4) Titanic
@885 (033 gRone KFEH FEH SHARAODH T8 T e ? '
(1) HMS ®a& (2) KVS @&  (3) LML 3 (4) BerdS

139 Coal, Petroleum (oil) and Natural Gas belongs to which type of fuels ?

(1) Chemical fuels (2) Fossil fuels

(3) Sunlight © (4) Water

&°ep, NS D0 DAt Hires TooHen Q 85728 Bodd aoéaué» ?
(1) SraHRE aogaren | (2) Beores woGTren
(3) “rdgse0d » (4) ¥ '

SPACE FOR ROUGH WORK / D& 98 Seronossads o
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140

141

142

143

144

What are the inter connected food chains called ?°

(1) Food web (2) Food stock " (3) Food scarcity ~ (4) Food link
WrED) Feaode @263"«)0@@&); Do ? 4
(1) o8 erolsn (2) ufdvomdin (3) oFEF88  (4) o6 20w

In which chamber of the human heart the blood is low in oxygen ?

(1) Right atrium ' (2) Right ventricle

(3) Left atrium (4) Right atrlum and nght Ventrlcle
20055 HoBS 2 6" @odd csgoé‘ ©8)2S S80I Botwod ?

(1) ©a&sps 7 (2) & 22608

(3) o 808  (4) 58 808 WO HBG 260

The alkaloid used as a sedative is _

(1) Nimbin ~ (2) Quinine (3) Nicotine * (4) Scopolamine

D&HDOGHT SHIATA0P veperons . |

(1) 2085  (2) 8¢S 3) 25 (4) 3FFeD>S
Rubber is prepared from plant.

(1) Hevea braziliensis ' (2) Jatropha

(3) Neem ~ (4) Mimosa

Sy Ty 208 Sordd BobakSod.

(1) &dose BAODNS I (2) s>

(3) 3 B OO

An Aphid pierces its proboscis into the

to get plant juices.

(1) Xylem (2) Phloem sieve tubes

(3) Cambium (4) Pith

35y Dord I EreH FoSwI8 D Fokod _ &8 BB,

(1) D . (2) D% Swere0osd O T
(3) Deresg Eeris® | @) sy -

SPACE FOR ROUGH WORK / dé& 598 Séranosadsd Podno
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145 A person has loss of control on emotlons, which part of brain stop its function ?

(1) Cerebrum (2) Diencephalon (3) Mid brain @ Cerebellum
| REHED D el o) 0BG DO o8 68 8 rFEgTOR daoy iy ?
(1) o (2) orgordo (3) P DSk (.4) o DAY

146 Excretoryvorgans in Reptiles are —___—.

(1) Nephridia ~ (2) Green glands ~ (3) Kidneys . (4) Flame cells
HyFre &' RS vdaaren Tt oo
M bare () wos fodbe  (3) durigomes  (4) wger Swren

147 Stethoscope was discovered by
(1) Linnaeus 2) Mendel (3) Rene Laennec _' (4) Maheswari

N - A
(1) BHwsS () BodS 3) aa,aals | (4) e 455

{ Lenticels are the respiratory organs exists in p-art:_of plant.
- (1) Roots, - (2) Stem (3) Leaves ~ (4) Flowers
as dolgren @'58) B:uéa. d‘inézr gri08” &) ?5&5"?4 @&abave»
3 36: (2) S0 (3) wde» - - - (4) .@s)‘gw
plants resplre with their’ 3 T
(2) Tap root ?3) Rhiz_c_)ids."_ ~ (4) Scales
__ & wgo = e e
_,(‘2) esg;%q; . (3) pwowBy (4 vewve
:lungs are called : gt Ao
2) Alveoli * (3) Bronchloles ~ (4) Air spaces

®obrd. v
(3) rsé@@éeﬁ i (4)n°€) e

[PTO.
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